
Имя: Ключ к правильным ответамПонимание знаков равенства

Математика www.CommonCoreSheets.ru 8 1-10 94 89 83 78 72 67 61 56 50 44
11-18 39 33 28 22 17 11 6 0

Ответы

1. неверно

2. верно

3. неверно

4. верно

5. верно

6. неверно

7. неверно

8. верно

9. верно

10. неверно

11. неверно

12. верно

13. неверно

14. верно

15. верно

16. неверно

17. неверно

18. верно

Определите верное или неверное равенство.

1) 17 = 3

2) 9 - 5 = 4 4 = 4

3) 14 - 4 = 7 10 = 7

4) 5 + 6 = 11 11 = 11

5) 9 = 6 + 3 9 = 9

6) 13 = 3 + 8 13 = 11

7) 3 + 9 = 14 12 = 14

8) 9 + 9 = 8 + 10 18 = 18

9) 7 + 8 = 8 + 7 15 = 15

10) 5 + 4 = 4 + 6 9 = 10

11) 5 + 7 = 5 + 5 12 = 10

12) 6 - 3 = 9 - 6 3 = 3

13) 12 - 5 = 10 - 8 7 = 2

14) 5 + 3 = 20 - 12 8 = 8

15) 19 - 8 = 6 + 5 11 = 11

16) 6 + 6 = 18 - 7 12 = 11

17) 11 - 4 = 3 + 5 7 = 8

18) 6 + 6 = 12 12 = 12
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